PYRAMmID A

Kawasaki GTR1400 Hugger

Fitting Kit

1 x M6 x 45mm Hex Head Screw

2 x M6 x 12mm Socket Flange Screws
2 x M6 x 16mm Socket Flange Screws
5 x M6 Penny Washers

5 x M6 Nyloc Nuts

2 X Brackets

Instructions

1.

9.

Remove nuts each side from top inner swing arm knuckle.

Remove screw holding inner brake hose clip.

. Replace screw with m6 x 45 Hex Screw supplied, then fully tighten.

. Fix long end of welded bracket over protruding end of screw and at the same

time fix other end over swing arm knuckle screw. Refit original nut.

. Fix Rear Point using M6 Penny Washer and Nylock Nut.

. Fully tighten both nuts.

Fit remaining bracket to near side (left hand side) point. Replace nut, but do
not fully tighten.

Slide Hugger into position and fix to near side bracket (left hand side) using
M6 x 12mm Socket Flange screws, M6 Penny Washers and Nylock Nuts.

Fix other side in the same way but use M6 x 16mm Socket Flange screws.

10. Adjust Hugger before fully tightening the near side nut and fitting screws.

Periodically Check Screws For Tightness







